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B.A. (CBCS) DEGREL EXAMINATION, APRIL 2018.
Second Semester

Sociology — Allied
SOCIAL ANTHROPOLOGY

(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 mai ks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :
1. peSar seps wrayL6iluied 6Tmhi Bmeuliul Ll

(1) Gggrioadl (=) GALLen
(@) Wh-6Tev.cr (FF) GLoh (& GUBIGTETLD
Modern social Anthropology was founded in
(a) Germany (b) Britain

c) US.A (d) West Bengal



=2y Cung ) ¢ o
- { ,"l ’/
T L, @uim(merT _—
(e24) LO&f) g, iy :
y) cHoB®

(&) srougn o g

. ag eJZ LL"‘Q.‘:) bV
An.throps meang s ’
(a) man imal
; (b) anima
(©)  plant

(d) none

(<=21)
(<2)
(&)
(rr)

Qummer g Uen G e
Quirmer gy Suensullemib
Qurmer gmir D @umer s auenEEIeTS

Qumper EMbgeneuuyld @Qumper SFTyTSenelL]D
Dieng G euensufend

Culture refers to

(a)
(b)
(c)
(d)

Material aspects
Non material aspects
Both material and non-material aspects

Neither material nor non-material aspects

&L &6V yeraflenw e-GeuliuBGsElwig wni?

(1)

(2)

S9fev Agroent (<) E.B. eolar
L.H. Gorirapren () G. ereflu vz
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‘\,')t

:ﬂ

, - -
Who represented the kulkt’rkrm s school®

®) E.B. Tylor

{a)  Fritz Greebner
' G. Elliot Smith

S EeTGaT et

# "“t“ -
== ‘a’a."eﬁ@n,- ‘ o—},) GenQpmGr
-\.f’ I — - f g— G:'i’-

&) <AS0amb (7) UBLOSRIO

People from marrying specific relatives or within
gocial groups are known 2s

(@) Levirate (b) Somorate

(c) Endogamy (d Exogancy
oenereuden shisnaen wamd Uiilaugl

(=) GaaACGH (=) CenQpnGrl

(8)) <<=sswembd (/) ymwewnd
Marrying his wife’s sister is known as

(a) levirate (b) sorrorate

(c) Endogamy (d) Exogancy

Gnd anfurer SiOag wmwern; auflullevner o mey

(=1) 2peypreD (<) albsrau

(D) sseunmaGGal (%) SHACL L



8.

The relationship by the bond of blood is Marriage
18

()  kinship (b)  descent
(¢) avanculate (d) amitate

@uan () QuHGpmit  WLHHID GRbmssmer QsraurL
@O LD

(1) walls @O

(<) @nop QupCpmt GHLULD
(@) oal@é @EbUD

() Qmeu wimeihgid

The family consist of two parent and children is
called

(@)  Nuclear family

(b)  Single parent family
(¢) dJoint family

(d) All of these

Lol @esgsh o oLsmer e pusH  Qeluybd
LILP I6) g W GurT

(@) @mbur (<) @freur
(@) prem () Ggmimeiv
Produce colorful handloom products
(@)  Kurumbar (b) Kurva
(¢ Naga ) Todas

Page 4 Code No. : 32175
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3 : 4 " 1%
‘ ‘] th‘ :1-:‘&‘»_".\;{“" ‘:.’\ J j # . s
S : H‘”»iﬂ”.“’lf% il :i‘ % 2441

(Y 1 1 .-".:-Q' mn &ar

{ ) (_Eg_,m_ﬁ&e‘h {oaad oy
Qi ! b) mnL_n&seT

(@) Gumon (%) @) e

One of the following tribe Jjy, in Ooty

(a) Todar (b) Kadar

(c) Tota (d) Irula

PART B — (5 X 5 =295 marks)
Answer ALL questions, choosing either (a) or (b)-
Answer should not exceed 250 words.
11. (=) sgs wrgieillweler Qurnmer unh eQeud.
Explain the meaning of social Anthropology.

Or

(=) Feps e L adlweler aumUuQué enaenus
uenUIm).

Define the scope of social Anthropology.
12. (=) @eolrrdfev eusaalear Gsrhmid ubm eSfleurl.
Describe the origin of Kutturkreise School.
Or
(=) waTur e s®mSs uHd Hmy GHluY s
Write short notes on concept of culture.

Page 5 Code No. : 32175



13,

14,

15.

(t‘i‘i)

(<=1)

(<=1)

(<1)

(<)

LD et L) ol 0
| auifl.
Explain Aboy exogamy

Or

Mention the i ifnnce of pride price:
euwFTauLf qm@ g QeTEG
What is descent? Explain-

Or
GICILIRT Ay l-l.eicrqa;mm uHo! qas &S
Explain about features of family-

: AT ) . L .
LIPSl LD&sartlen QummeTTSTT f&sener )

Mention the_éfc‘:onomic crisis of tribes.

i ;‘::ryor

LILPBIG e LDGSGSGIﬂGUT QumermaTyd LHH SHmHSS

. QUEHTS.

4 B xpléin" the meaning of tribal economy.

age 6

Code No. : 32175




16.

18;

PART C — (5 x 8 = 40 marks)

Answer ALL questions. choosing either (a) or (b).
-~y

Answer should not exceed 600 words.

(<=4)

(<=4)

(<1)

(<=4)

(1)

BONEETYEHE 6 cuenia&lusles Carl_un@ser
wireneu? eSleurl.

What is theories of cultural growth? Explain.

Or

o> Goors smew  walsTEame Splugsrhisener
edlensd G s.

Explain special features of metal age people.

LieRTUITL g 67 euangsamaT ellaul&gienTss.

Elaborate on the forms of culture.

Or

peTurC (U ugeue wHmib 9p uesTur® gHme
& weumhenm U (Db, GCoumiu(BFHwyb

STL_(h&.

Compare .and contrast diffusionism and
acculturation.

POBLED LLODID SiGi0em}y (45 f) ehleur.
Describe monogamy 45, polygamy
Or

P v
Bee 7 Code No. : 32175



' . . os @aast GsHd U
() UPBRISTQ sops HHLETSHQ Qenanr EHHH

ulperpsenar & 0.
Mention the ways of acquiring amate
preliterate societal marriage.

mn

19. (&) LPRGL Qe FPESAGT 2 paytpep LGS
<SG enar edlautl.

Describe the structure of kinship roles In
preliterate society.

Or
(=) ebsranfl si@wUY WD LD efaréEs.
Explain about the descent.
20. (@) uprigguieda Qur@germgrmb LnHd sU_ Qe
RN UDTS.

Write an essay on ‘tribal economy’.
Or
(=) vy e Qurmertsmrsder wWCamuma

LDTHDS®S < TTLIE.

Examine the changing trends in tribal
economy.

Page 8 Code No. : 32175
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Code No. : 32099 Sub. Code : GASO 2 A

APRIL 2018 L

Second Semester
Sociology — Allied
SOCIAL ANTHROPOLOGY
(For those who joined in July 2012 — 2015)

Time : Three hours ‘ Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

&S\ (m1b gl BN &TELD eI USLD 2 (Heurerns).
(@) &Crés Qamre

(<) @58 Qeme

(&) soadms Qeme

(%) Qbd Qemed



The term civilization hag been derived o™ the

(@) Greek word (b) Latin word

(¢) Sanskrit word (d) Hindi word
Ll Uig S

LOTE)IL-6IE) GTeTLIg)
21 HleALIG) <, @E5LD.

(=) wealsiselar G (o) walsise

(@) eNem@sdr (FF) T gILOlLENED

Anthrdpology is the science of
(a) Group of men (b) Men

(c) Animals (d) None

GG Mav LeTaflenw o mUUBSH e wirT?

(1) dflev SHTTLIGUTIT (_é%b) E.B. ew_eorr

(@) L.H. Gorigprar (m) G. aaflul cvifls
‘W}i‘lO represented the Kulturkreis school?

'(a) Fritz Garbner (b) E.B. Tylor

(¢0 L.H. Morgan (d) G. Elliot Smith

Page 2 Code No. : 32099




(@) ue QUERTSHET Wewrip

The general practice of marriage is

(a) monogamy (b)  polyandry
(¢) polygyny (d). none

els GeHS e Olsl upeL umips  Hopeuanons
S(HGIeUG) eT!?

(@) Hpwenrd (=) GHLUD
(&) swwWb ' ()  Qum@ETTSTTD

Which 1S viewed as an oldest institution of

mankind?
(a) marriage i(b) family
©  religion O R

Page o g



6.

‘\]

1930 sefled QLRI IO
@96\1;@5@5}555@ I ?

D MHIEHEN 6T
P-paj penpn DIt

(<=1) @le(Sas‘erfQU Sy (<) epymaud) gurGaeu

((@) S-C @H@Ll (TT) M.N. gﬁ@ﬂ@ﬂrm}

(8) Yogendra Singh (b) Iravati Carve
(¢) S.C. Dube (d)  M.N. Srinivas

(<=21) Breng ' (=) Qe
(8) e (FF)  mbgl

How many rules have been identified regarding
decent?

(a) Four ' (b) Two
(¢) Three (d) Five

S TemTIL(HILD 6(I5 | LILPTBI G5 lq.uSl GorrT L GUOT GST LD LI LD [T 657
pNL_SMeT 2_HLISH CFILIeTHET

(c9|) @@L'DL.IFFGI:D (écb) &;rrl'murr

@) pron 0 4 B
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10.

L of the ;f'()llowing ot

m 1b:

((.‘Dlﬂul'f.lll hzlnleOIn I)I'Odl:z:t];gbonn‘nunlty is makl"i’
{urumbas

() I (b "“Harsa

(c) Nag# (d)  Totg

Gayer ST UPRG ey

ar[rﬁ(f'bﬁa“'ﬁasm Qenpes

=) [prmdleTmu ()

(,:%) @LDLQ-E—L—CSU-GUﬂUJG‘UT

(@) ﬁé'é@r;rrru'_f@

Ga) GG —Bevig peomii (R

The Kadas of Kerala belong to the

race.

(a) Managoloid (b) Mediterranean

(c) Negrito (d) Proto-Austroloid

LTIy @er ndsatien seps CLmBenTsmy
rhmsSHmharer (peEHw syl LG,

(1) weawrum (G GgmiL
(@) Ore

(&) wsw

(F)  ggifdeama

Page 5 Code No.: 32099



- ’ lll t}l(; l()l () \ \‘ f II 1

of tribal is ——onn
(1)  culture contact (b) rent
government
(¢) religion (d)
none

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b)-
Ifach answer should not exceed 250 words.

1. (o) @bHuneileh wealls@and LHHL iBISHEDET
T O5E!

State the racial elements of India.
Or
(=) SHETEOLD Slend:Es.
Explain stone age
12. (&) LeRTUmL g6 LiGwnil&6T wimene?
What are the functions of culture?

Or

(<) wewrum() GFHOe NeT&GS.

Explain acculturation.

Page 6 Code No. : 32099



()

3 b3 L "7 ~t‘ ‘s";’(’"‘r T Y
' o R !, s
. l“h\.‘i)n‘

Explin N exogap,
Or

-r-!i‘\;i’!g’ﬁw MCENCICIE QU
1seflau(hSgIs.

L&ensullen gerreninanu

~lucidate the :
},hlfﬁg nNature of preliterate societal
famuly.

o me| (PO Limi&l e S{emwUGenen eSlaré @ s.
Explain the structure of kinship roles.
Or

> pay (perpuller Asreransser wing? eferées.
What are the principles of kinsh‘ip? Explain.
srépenL QUITIRETTSITLD 6flardEs.
Explain pastoral economy.

 Or

EneaUm)  Lo&aee QuUIT(HETTSIT] efeursL
QuUmmET LiHM <plIs.

Analyse the issues of tribal economy.

Page 7 Code No. : 32099



Answer ALL questions, p]“,w“”, oither (9

PART C — (§ x 8 = 40 marks)

)y OF (b)-

“‘_1 - « - SRR A ~ - o & o .q.
Fach answer should not exceed GOO wo! 8

16. (<)
(<)
17. (1)
(<2b)

"2l T“ A c\ . . ”~ i ——
CPDFT ."”””"*“’."-‘*,*‘:Q(\{'.I @U QUL |6 8Tl &[T

: aqu'
Mention  the  characteristics of eariy

civilization.

Or
LILDTBI (5 g uSl T FUPSS MG o
waHlusgeusSmar Qgafleursd-

Elucidate the importance of the studying

preliterate society.
Ligaysed eumg Capmadlaman elleTsE&S:
Explain diffusionism.

Or

LITeYS® GUTSLD HOILD QenarTalTS G D m el &HEn 6T

a96T& G5
Explain the theories of diffusionism and
parallelism. X

Page 8 Code No. : 32099
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19.

21)
g

RireTu ey, ST

: DOMID @
) (1HLOEWT 1 863 gy & T APTOY P
ST Jo B
List . -out Preseril i
; SCribe ,
marriages., and preferentlal
Or

gﬂﬂ&@.@mum OPOD @@smvamD  Gaudfen
@@uum&mammggaﬂmu@\g@

Elucidate the special features of monogamy
and nuclear family,

2 De|UPEND  Ughismer  HlrewrudliLeneu

L

Qgatleyu(NSEIs.

Elucidate the determinants of kinship ferms.
Or

Goedl Qi id 2_payepep sedisse Lpd e

Describe avoidance joking relationship.

X

Page 9 Code No. : 32099
ag



(i)

Y

LDEM) YR IR
| B2

TGO IHED!

P .@ """{hpm\ il ed
ediby iy o N1Qy ‘3~"~"~'ﬂe}‘,v.uu wnhmib

1 ¥ . 2 . . R '
LiLiTmeTgn 0 &bl eby LI Lyl oy, 17040

N . y I
Examine the role (nthering  ane

of food

: " , _ '..' )“l
pastoral economy iy enhancing U L
economy, |

X
Or
Qi8w UpR@g@arfler  @UITAHETTETY

ElEsaEman sorafliiug) eriiug.? eNeurd).

How can be solved economic problems of
Indian tribes? Discuss.

Page 10-_: | Code No. : 32099
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Code No.: 32095 Sub. Code : GMSO 62

R A. (CBCS) DEGREE EXAMINATION, APRIL 2018.
Sixth Semester
Sociology — Main
CONTEMPORARY SOCIAL PROBLEMS

(For those who joined in July 2012-2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1.  Yeareymeusaupdled Fops résmeansatlen QuicLsenar
eHudhs

(=) Qurgeurer g litien QameaL g
(=) qeamsbsaram QST jmL g
(8) Simeaids sopsSHID 2 (HeuTeag)

() Cuheadlu wrenell|b



&

B

From the following, mention the charncteriatiog of
social problemas

@) Have some common basis of origin
O anterrelated
(¢)  occurs in all societies

(d) all these

CE&® Qeuulr  wppb D F Gy
rerun® Gamlur@® upd @EGan WG Wenp

Qerewg médetman |

(SN) Liepapd (=) Camer

(8) sty wrTEev (rF)  Slboew

Max Weber and have two different
approaches to the conflict theory

(a) Durkheim (b) Coser

(c) Karl Marx (d) Simmel

FHEHET DIEVEVG)| Q@_fpr}nuﬂeﬁ LWL (D SSHISHMED GTEUEU T
SHDP&ESELUHE DG ?

() GEULRssD
(<g,) CGunens LLPESID
(&) enpe L
(rr) @maw.urau&e’umqj_

I’z.tgé 2 Code No. : 32095
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o«

Usage of Ganja or Heroine is called

Alcoholism

(b) Drus abuse

(c)
(d)

Cureng WOBS WLDHL  GrouEsnd Gu@burgyd
e Gurg Zriolisdnsy

psychological depression

None of these

(1) GLBMS LG

() HTIEOLD

(@) pdips g
(/F)  @flLaney Li(HBULD
The initiation of drug and alcohol use is most
likely to occur during

(a) Childhood (b) Motherhood

(¢) Old age (d) Adolescence

Gl luésDh 2 (HeuTausnE Gl lIuaisdT  eamb
1T I} GOOT B & 61T

(<21) werm wdlp&sl&E
(«2),) Grésenensener LOMES
() usglemrirey QUmEEDE

() @enauwimeyid

Page 3 Code No.: 32095



1S
(a)  Mental pleasure
(b)  To forget the problem

() To make refreshment
(d) All these

beflubrgsiul Gerer QLGOS GPBPSseT
A& @Jma;uu@ggpLJUL—@mmm”

(S) 2 wiibs sbuemd

(=) e ewmeubmeurnser

(®) urTusywret AETINEY Qg,n@a)rrmr'rasm
(FF) ©G®DHS eu(HLIEID

Many children engaged in work are classified as

(2) High salary (b) No food
(c) Hazardous labour (d) Low income

GYRhHens QsTLOTETT 6Te SieMLR&SLILI(HLIGUT WITT?
(=1) 14 awgsgs Sp oemetaursar GCeueneude

SWTSSULI(HS6
(<=1) 14 auwgisE Cwe o demeauirsear  Geuaneude
AWTSSILI(H S 5 ‘
(@) 20 euwgsE &p edmaautsar  Ceueneoudd
S{OTEHSIU(HSHED

(/r)  GpseTL gemmLsleene

Pag_.'e'.-4 Code No. : 32095




w0

Who 18 consider as child-labouyyp?

(a) those who working below 14 years

) those who WOl‘king above 14 years

(¢  those who working below gq years

(d) None of these

NFE creuig)l e

(1) (PEPDETTT &e0aq)

(=) Caélw Qua Ceuemeaar

(@) Csélu adliane e

()  Gadlw GCuerser WerGarhmib

NFE means

(a) Non Formal Education
(b) National Female Employment
(c) Nation Future Education

(d) National Female empowerment

poswl  Selljeungld  aThHs wrHlesHd  psedla
Camembluig ?

(=) 50pErE (=) Cupe eukisd

&) sgrrs (/F)  &maigBir

Page 6 Code No. : 32095




10.

11.

In which state the terrorism of Naxalite started
(@) Tamil Nadu (b) West Benga1

()  Gujarat (d) Kashmir

"2 daui  Selyeumsid @E@‘“”@gm ahIEG SAF &b
BeoL Qubhmy NGNS

(=) ievevmb (<) g@@pﬁ@

(@) Csgerm (/) g;r'rgm_asrr

In India which place the terrorism of “ULFA”
prevails more

(a) Assam (b) Tamil Nadu
(¢) ZXKerala (d) Karnataka

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(1) Feps GyFsenaulen STyesThisener CT(LDGIG.
Write the causes of social problem.
Or
(=) raTun(h) TEImTey 6Temes? el e,

What is conflict? Discuss.

Page 6 Code No. : 32095




. .- -
160D (OB .60 10864

(" : oo
Gi. O geun um ol

A G g @OIH DI
write 8 short note on g

; atment fop e
nddictlon.

Or

(Surrémﬁu Glurr@eh gmu%{@ i
&;ﬂb@[ﬂu &R R G 60 e @@D,Q@&

i Define drug consuming wit, it causes.

TWUDSE

PR R

ig: STETRIHEN T 6CT(Lpg)| 5,

DS 2150 @M

Define child labour gng write down its

causes.
Or
() @pfureiled  Baayn  @oseg Asmfleorar
PdDEIL U6y Qg s

Examine the issue of.child labour in India.
e 14 (@) AIDS 6 Ggmppid UDD sy,
‘ | ~Describe the origin of AIDS.

o (%) T5.8.68. Himid) STEGSen LGCeum auamsIenan
L TS,

various modes of HIV

Page 7 Code No. : 32095




15. (=21) @ndHwrele Blaayn Seflgeurstd upl TWaE.
Write the issue of terrorism in India.
Or
(&) wgs Salgeunsid Lpd sams.

Describe the religious terrorism.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.
16.  (=1) &geps Apsseneneanw UENTILMIST SIS CUMNSSHEET
e AT
Define social problems with its various types.
Or

(<) @Bdureier Cemowpn Qerergsiser eTdi
C&meT(epd NFsFenaaeT 2y uls.

Discuss the problems faced by unemployed
youth in India.

17. (=) smpe  wrisellguenLw euiés o emitey LHD

eSleurd).

Discuss Karl Mark’s class consciousness.

Or

Page 8 Code No. : 32095




18.

19

) : ( \. FOM¢ Qe \
() FEPS LS an N eb (hesatin iy ls};g,m’\h

altlen 1 gl
DI BV (LpUSIILI It han g, Seant Cleont i’ | gl

h pis ’,I
QTR

wibe t AL S Y SRIt]
Describe the causen of dvug nbune with s

social implication.

DA SHIGMET 6l meapibimalld

Qmleunaritaer <O Hlenid @Na e,

(Bphean

Wwhy child labours are mereasing in urban
than rural? Discuas.

Or

(<p) @pHuireiledd sramiii@id @iphang Qunylaonan

UL S rigenen of s,

Describe the various child labour oradication
programmes in India.

HIV Gprepwl SOGS  <o1pa idHOID o1 a1ty
Blmicu g e [biog.EemaEsaT LI O dlon ()15,

What are the steps taken by GO/NGO to
prevent HIV infection?

Or

-p;_ﬂga 9 ‘Code No. : 32006



(%) il ey Crrenw sLEULESs CHAsTaTeTlILRiD
YEsRuy  wHPD  urgeTUy  (PDSeT
QaialsQsrerris.

Bring out the various protectlve and

Preventive measures to control the AIDS in
India,

20. (=) @bdHureie sTeRTULRL o dum, wrGeumlen
LB @D BEFEDOL Saflgeurs & (p&satien
BLalg &ens unbd SHImiis.
Analyze the activities of ULF A, MAOIST and
NAXALITE terrorists in India.

Or

(=) 21 b madmredTiqed Seflreungslen LawLsener
auflensliuBsss.

Enumerate the general characteristics of
~ terrorism in the 21st century.

Page 10 Code No. : 32095
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Code NoO-* 12092 E Sub. Code : GMSO 62

5.A. (CBCS) DEGREE EXAMINATION,
i NOVEMBER 2018,

Sixth Semester
Sociology — Main
CONTEMPORARY SOCIAL PROBLEMS

(For those who joined in July 2012-2015)

Time : Three hours Maximum : 75 marks

PARTA— (10 x 1= 10 marks) ‘
Answer ALL questidns,.
Choose the correct answér o
From the fbllowing, me_ntioh ,the.characteri's\ties of

social problems
(a) have some common basis of origin
(b) interrelated

(¢) occurs in all societies

(d) all these -



S

I

(o)}

Py
. (heoTe“
From the fﬂnvwzm which ©P€ .5
IC e P .10k
approach is related With social ProP
(&) social disorgangh,inn approac?
(b)  cultural log 8Dproach

(¢)  personal deviatigy approach

(d) all these

Usage of Ganja or Hergipe is called
(a) Alcoholism

(b) Drug abuse _

(c)  Psychological depression
(d) None of these

The characteristics of drug abuse 1

tn

(a) compulsion to contmue taking the drug

~(b) 1increase the dosage of drug

(¢) deviated from 6fhpts

(d) ~ all these |

The reasons for dnnkmg derived from the d. o, T
18 ’

(a) mental pleasuré;x’f' »

(b) to forget the problem

(¢) - to make refreshﬁ@ént

(d) all these

bag‘g 2 COde No

-

++ 12095 E




6.

3

.08

a n w oY
(1 ) sl Problems
( )) psycholl()gj_ca]v pY,'Ob]em 3

(c) eConomje problems

| (d) all these

The pI’Obl(}mS faced by the Chlld labours are

(@)  low salary (b) heavy work

(¢)  poor living place (d) all these

From the following which factors 18 influencing the
spread of AIDS disease

(a) Intercourse with many

(b) Intercourse with prostitutes

(¢) Immoral behaviour

(d) All these

Mention the name of the district which is highly
affected of AIDS. .
(a) Kanya Kumari (b) Tirunelveli

(¢) Namalkkal (d) Chennai

Violent behaviou‘r designed to generate fear and

affect in the society 1s called
(a) ruling method  (b) capitalism

(¢) terrorism | (d) privatization

Pag? 3 Code No. :12095E




PART W = (B % 6w 20 mp k)
Answor ALbequestions, chooning ofg oy () or (h),
lsneh answoer should not oxeood 2p0) wordsn,
L (@ loxplain the concopt ol noein] problom,
o

M Write tho eauses of social prablon.

12, (0 Bring out the extent of dvug alyugoe.

Or

(b)  Explain the effect ol alcoholigm,

13, (1) Examine the issue of ¢hild Inbour in India.

Or

(b)  Write the social effeets of child labour
problem in India.

4. (a) Explain the magnitude of “AIDS” in our
present society:,
g5 Or
(b) Write ' the various  causes of HIV
transmission,

), N/ g 12095 E
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15.

Write the 1ssuc of Lerrorig

() M in India.
Or
‘e aus Mt . . .
(h) [xamine the causes of terrorism in India.

PART C— (5 % 8= 40 mayq,

Answer ALL questions ¢hoosing either (4) or (b).

ach answer should not exceed gog words.

16. (a) Define social problem with its various types.

L

18.

Or

(b)  Describe the characteristics of social problem
~ with deviant behaviour perspective.

(a) Describe the social problems related to drug
- abuse. '

Or

(b) Discuss the méasure:s to treat and prevent
alcoholism., | ‘

(a). Describe the social effects of child labour
problem in India.

Or

(b) Criticauy analyze the legal measures to
eradicate the issue of child labour in India.

Page 5 Code No.: 12095 E



1.9 (a)

(b)

(b)

o :
Lxplain the

.

1 a ff'CCtOd
5 m
family and SOcjgy

Pact of AIDS ©F
Y.

various AIDS in
\ Casyy ntrol the
Indig res to co

e ety
Explain how the terrorism affects the socie Y‘
and 1ndiVidual by its Cruel_aCtiOIl.

- Or

. ’ 3 e
Discuss the legal measures to control th

- terrorism in Indig.
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BA. (vu(‘b;\z (I)J\lgé‘l\liggéaé\'d\lx\snNATI()N.
First Semester
Sociology — Allied
POPULATION STUDIES
(For those who joined in July 2016 and afterwards)

Time : Three hours Maximum : 75 marks

PART A — (10x1=10 marks)

Answer ALL questions.

Choose the correct answer :

1. In India census is conducted every yvears.
. (a) Five (b) two
(c) four - (d) ten
2. Birth and death registration are statistics.
(a)  Vital (b) census -

(©)  permanent (d) national



Vl"} 4
rne pe SSRLY;
people who are not, able 10
or :
very old Lo work

as

@) lazy
(b) dependent
(©) beneficiaries

(d) - pensioners

-T. R. Malthus was born.in

‘(@ Germany ()
(c) England = ()
~ Demography deals e
(a) F ertilify e -,..(b)
’(c.) Migrétion, ) (;i)

very young

work or
considered

are

France

i annada

Mortality

All these.

Degth’ of children 'undef the age of on'evis .

'.(a) -’mortéliﬁy
(b) mortality differential

~(¢) infant mortality

(d) maternal mortality

Page? ‘Code No. : 12185 E




' NEGHELER IR ST
.‘\p(‘.()l-(‘llnu to I\/lllll,ll\”l. ',u'nlllﬂ,ll)ll

() Reometrienl
(b) arithmeticn]

. : arithmetical
(©) neithey uconlt!tfl(ffﬂ nor arith

arithmetical
(d) Botll g()()n]ei,ri(_::ll nn(_l :IH‘/}”H ¢

1 < ric® ' y ’{ (i 1re € 44
According to Malthus, which on¢ of the following i

not a pre.ventive chcck' '

‘(&) abortion

(b)- ‘p(‘)stponement of markiage
(c) famine

(d) moral restraint

In demographic terms, the actual production of
offspring is referred as .

(a) fecundity
(b) - fertility
(c) ‘ reproductive span

d) - puberty

Page 3 Code No. : 12185 F




10, Indin's (st CONsUH WiLH conducted

1 En
@) 1911 (LY 1871
@) 1901 ‘ () 196 1

PART B (0 x 6 = 25 marks)
Answoer ALL questions, choosing cither (n) or (b).
IDach answor should not exceed 260 words.,

11. a)  Explain optimum theory of population.
I A pPoj

Or

(M) What is conception and contraception?
2. (@ Give brief note on census.
Or

(b) Why the population growth different in
different countries? ‘

-

13. (a) [Explain the concept of migration and
movement..

-
N

Or

- (b)  Write short note on infant mortality.

Paige l Code No. : 12185 K
b e A P T0)




14. (&)
(L)
15, )
b)

Answer ALL questions, choosing either (a) or (b).

loxplam t]t‘ll\ﬂl.‘:‘l'nphi(‘ Lriangit
ranaition,

Oy

What is birth rage2 1w '
ale' l"xl’lilln,

Discuss about ha
control.

Or

Describe  the Demographic effects
migration in India.

PART C — (5 x 8 = 40 marks)

Each answer should not exceed 600 words.

16. .(a).

Explain Malthusian theory of population.

Or

(b) Discuss the factors influencing fe‘rtility.

17. (a). Examine the factors affecting migration.

Or

(b) Explain the determinants of morality.-

measures of popu]nl,mn

of

Page 5 Code No.:12185E



19.

(a)

(b)
(@)

(b)

()

®)

N 1) ¥ ) ; .
Analyze the tronds of mortality 1 [ndia.

Or
I)li..[(-!rehtia{;(-} boh\"oen f0111alc 'foct;icide.

Analyze the trends of population growth in
India.

Or
Analyse the family planning program
India. : ,

me 1n

Discuss the factors a-ffectir'_l'g ‘the fa}i{l;gs
planning pxjogr‘am‘m’e and provide suggestion

for improvement. - -

Or

Explain the types of migration..

-Page6 Code No. : 12185 E
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Sixth Semester y
Sociology — Main
INDUSTRIAL, §OCIOLOGY
(For those Who joined in- July 2012-2015)
Time : Three houfs : Maximum : 75 mérks
' PART A — (10 x 1 = 10 marks)

Ariswer ALL questions.

Choose the correct answer :

1 The concept of division of labour was advocated by
(a) Adam Smith -~ (b) Babbage
(c) Gisbert ' ~(d) Emension

2. Who is the author of the book “Industrial relations

and labour registration™? |
(2) Miller and Form  (b) . Sinha and Sinha
(C) Moorea _ | (d) Memoria




A ]

Fl‘l‘(‘ ‘ N T
orm 1“(\1\1‘\‘ o = '
tl ]Dll l““:"‘()n?‘l ']](

\1]!
8)  relational: qgeime
Onship between  mandt
wWorkers
i} 2y ) t an
(b) 101:1t1<>nsh1p betwcen ]m“mgcmcn
leaders
()

1‘elationship betw

een union
workers

(d) relationship
subordinatesg

between superiors
- ' ' : tions?

What is needed for good Industrial rela

(a) Labour education

(b)  Uninteresting nature of work

(c)' ~ Political nature of unions

(d) Poor behavioural climate

Forms of strike include

(a) . stay away : (b) stayin

(c) pen down | ~ (d) all of these
c

dustrial 'di\sputes act was passed in the year
Indus ; ;

(a) 1967 (b) 1937
a |

1947 (d) 1957
- (e) 9%

Page 2 Code No. : 12094 E
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o

10.

o Vs ' ; : ';“ r{ i
Thie - miong Act ¢eame in O
i ;H(‘h:n\ ]‘y;“i:‘ { In

the vony

' 097
{a) 1994 (b) 1927
(c) 1947 (d) 1948

—————
.

(‘hild l.‘]l)QurQr is pr(\dOInnldt n

(a)  Match industries (b) Glass industries

(d) All the above

(©) Quary industries

The primary objective of =~ labour welfare ig

(a)  protection of workers rights

7 v

(b)  welfare of workers

(¢) maintaining harmonious industrial relations

(d) all of the above

The efforts to make worth living for workers is
(a) labour welfare |

(b) labour security

(¢) labour investigation

(d) - labour work

Page 3 Code No. : 12094 E



p=a
Q2

Apnswer ALL quco wtions ¢ h()()qln r

(a)

(b)

(a)

(a)

(b)

(a)

ART B (D X B = 2."
PAR' Marky,

Cithep
about 200 wordg eacy, ¢y (a) oy (b)

Define Industrial SOCiolog

an \ A
nature. d EXple

Or

Distinguish between industry and fyoq
acto

Write the meaning of induStrial relat;
on

Or

| Explain the term collectiyg bargaining

List out the forms of indu_strial .disputes

Or
What is industrial conflict?

Mention the purpose of workers participation
In management.

Or

State the features of schemes.

(ive an account of labour welfare.

Or
Write short noteg on scope of labour wellare.
' 94 I

. 12094 B
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16,

17,

18.

19.

\awor ALL aquostiong

[Paeh answaer “l\()llhl 1

()

(b)

(1)

(b)

(b)
(a)

(b)

I‘.\l\“l‘ (! (" v
o 10 mnrln)

‘ ”"Hin“ cithoy (1) or (b),

101, UXeeod GO0 words,

ilucidate l.‘h(? HCOPG of Industrinl sociology.
Oy

Analyse the sigy; licance of modern industry.

What ave the diffopq

collective l'):l‘\"p;'

' Dt phases and forms of
dming

? Kxplain.
Oy

Discuss how collective bargaining can bring
industrial peace.

l[ixamine the ¢

ause and effects of industrial
disputes.

Or

IExplain the forms of industrial disputes.

Discuss  the importance of

workers
participation in management,

Or

Describe the comments on the scheme
workers participation In management in
India.

Page 5 Code No. :12094 E



20.

()

(b)

w . v Tal ;l]ld
LExplain the concepy, of Tibour wellare
. . . . [ 8
bring out its Mportance in [ndia.
Oy
: +ivities
List out the activl

labour welfare
undertaken by government of India-:

7}

Page 6 Code No. : 12094 E
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3 A (CBCS) DEGREE EXAMINATIGN APRIL 2018
Sixth Semester
Sociology — Main
INDUSTRIAL SOCIOLOGY
(For those who joined in July 2012-2015)
ime : Three hours Maximum : 75 marks
PARTA—(10x1=10 marks) p
Answer ALL questions.

Choose the correct answér:

1 ré:'; S @f}ﬁl—’ﬁl“! Gg,rﬂé}r nf"g)ﬁﬁglu_!a.)ﬁﬁr'f LIMT?
(=) me »;:@;fseﬁ\u_na)mrm
(=) Guilwe "e_goassﬁ)u,l@ reiv

(3)) s ggecarw:ﬁu_! &@&tﬁ:lu@)ﬁmfl’

() WslQuiiw &@,oazf?ruwrrerrr’r

Who looks at particular interactions?
(a) Micro Sociologist

(by Macro Sociologist

(¢) Mini Sociologist

(d) Large Sociologist,



&

(hmin (n].""'””!’]c’““)“ e Im;r,‘;)’,,,

ally ¢ (d] f()lJ} U} (',n[(”
i ””(::‘,'”:i',(“f)),,f)[ f..)' Vil 7D

GOIESEL 0 N IRTNIRY
s P : (') LY

RCATRTY ;
:i‘.’)’\u\\'ﬂ,\“ HT @K1 Vg e ot

(\"’{ ) (‘Jp,ll m](f\)e,
- Slen g Mo

. )
(<) Q&mi gy .
. o2 J iy GCU)U»QQ(” (LI GV

2 _‘ :
(@) Q“?)”E@m QGMI‘é;@JI,biT
(/) Qs mSleman; 160 & g5l 6mD

D Dt is a discipline which deals with

Study ang examination of interaction of human in

technologicg] change.
(a) Industrig] relationship
(b)  Industrig] sociology
(©)  Industry conflict
(d)  Labour welfare
- Lianfluql FrUBSEID  FLL MmiGET,
LOTL&EnaT LoDMID BlMIGUGTBISET LHHIw <16 DG L.

(<=1) Cgmpleogiern 2 pay
(<2b) @gn@wnmfr‘rf;wggjmm
(@) Qsmiflevgienn Gorgeaer

()  QsTHDSI@D Fpseduic

Page 2 Code No. : 32094



[t |
| 11 ‘Hmlﬂ/ “'; (hits VYK,

TR LALAL ' ;
conventions LEU T TP prep it i

wworlgplace’

(1) Idustrin Wil donshg
() Labour Wl

() Industrinl BICTRATLGEE

() Industrinl Bociology,

: / 1 ,,‘/ /l.,‘ ‘ A4

4 b I i. 4 ; 1 /,"A/’-Al/ {,
G (1P ((gp)c—.mt Corrd Car 1 el (It bl f/}llwl&nm’f”” e A

o)) Gl mlevier TIRIRI I
) sl (@D
) Lieosflutle gdlan poant il Ny

) Q,}g,ng)]gimn'".m,lh

— TR 7 ,,r(;r:(:i",it Of f"t%f/biﬂzf,i//i;
hetween employers and a grotp of crnployocs,
(a) Labour contract
(h)  Collective bargaining
(¢) Workplace democrucy
(d) TI'rade Union,

emr;;;fj,mz

Qumdihoneney gL lan gy ——

OV SNibiger aupibi@slns.,

J ¢ g) () ’ 'J’

(1) Gaw () 206G (9] apennBEG
(@) e 2105w, () spibg SHBEG
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)

\ ] s \ avidoes i
The Intustyind Dhsiputes Aot provi l *

(hi‘\’uh\‘llih\)\ machinery

\‘

[

o0, \“-\"\‘:\| l‘;\“"”i\\}““"”v"““‘ :“.u"n””‘!l‘” | :‘}i:“olh(” | H(‘

R A
Vil M, %

A S
Y Qg itenel iyt aren \-\‘\\\(\Il”*""‘”‘l‘“ Moy
vt AN E BN \ dh
by '] . ( ‘ .‘
a) 1840 (s ._‘)“\ 1950
\\ \
iy 1043 (H) 1047,
\\a 3

I : : e J3 )
In which year, the term industrial dispute’ as

described in the Industrinl Disputes Act.
(@) 1948 (L) 1956

(¢) 19438 (d) 1947.

LBIGEDHDE Llg. Gah BLIT OET LOHMILD

o_ewridd) mhHiur®h & ) éiiémlDé_I)l :
(=) & Crafav (<) s ey

(Q) Creiwed Greflav  (FF) <1t edlwie

According to participation refers
to the mental emotional involvement of a person.

(a) Keith Dawis (1) Roy Choudry
(¢) Daniel Davis (d)  Amur Lein.

Page 4 Code No. : 32094
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O

, . VIATTHAT ey , , ,

GuomutL. 1‘111,1_.-t,l‘u{\];mu,cﬂl lJGMﬂl---'Lllrmm Fen 16O Hlundl g e

(o) ©&W
(<2h) S(HBHG) S LIS
(@) ukisTalwrs

(7r) Gouenev @QUIGHEETTEET

Under this method, one or more representatives of

workers are nominated to the poard of directors.

(a) Work Committee

(b) Suggestion Schemes
(c) Co—Partnership

(d) Work Directors.

QpHur Qsrferert pevar oTICILITRS) Qsm_hdug
(@) 1914-1918 () 1915-1919
(@) 1921-1925 () 1911-1914.

In India the Labour Welfare started sometime

during

(a) 1914-1918 (b) 1915-1919
()5 19211925 (d) 1911-1914.

Page 5 COde NO- . 32094
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11.

o_ureUd {T’L@Lorr@mb GﬂEg‘D g5

Harulg. ST

O_GITeTY)

(1) O8THbeamenayger s LD

(<) ST i

(&) QuODSHmL Qg,rr%@@)rrmr'r gL LD

()

GG Fambluy é{@)@ﬂ@@lw

The construction of canteen is compulsory as per

(a)
(b)
(c)
(d)

Factories Act
Mines Act
Plantation Labour Act
All of the above.
PART B — (6 X 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Fach answer should not exceed 250 words.

(<=1)

(<)

g mHlev FUPS GUmmeTTS D LOMHMILD
WpESLsgIeud upd HHEsLTS eNeurdés.

Briefly discuss about the socio—economic and
significance of industry.

Or

Qgmlevgienm

. Speeilued e  (pearCarhmid
e 6eT& G .

Explain an

: mprovement of industrial
socliology.

P
age 6 Code No. : 32094
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1.

(<2h)

(1)

e

“'5”2,‘ “‘.l_\" ."t‘ | “0'}"1'.1\' |'.|"“””’ Huil ‘.,"::‘ “}"'

Rl It' Il H.\.!“l.\,']'

\»“._‘ 1R}

\
1) y LR v

(s peinetplon gyl ploeAes ek formy

|t ol |
A Collootive Lhvgnndng,

()

TR (A NTSIRL bl | it nt ity

Cn g e (e

Lt oubt  tho condition® (or  wuccoun(yl

Colloetive Bargnining.

\"(\\l‘ U) . L‘gl.\‘\:\-\‘lh"MMGOI ‘@))“ |.|i):_'_';]|'|||';|.‘h(n|| | ]ﬂ)’{)] /””)] (/!),‘f)ll'll I

QIEN 1,

y ek : | m Joint Consultative
Weite  short notes © oint - Congultative
Machinory,

Ovr
SO @A HOID inds bl 1GOGLD @) udbblbiger Lip)
si(hGEI0nG efleunhlis.
Briefly describe the board of conciliation and
Arbitration Machinery.

Qawipenm Illg-LIuenL_uled Blireurag sl
QgmOeonarisafler Limki@ 6N erd@s.

A =% ; . e . 4
Ixplain  the workers participation 1A
management on theoretical basis.

Or

Page 7 Code No. : 32094



¢ \r'z‘m': *\'\‘vk?l)ﬂ Y113 . ~ - of; [ 3. - : .

1\\\:.;,\ QemyY T L1y Gy oL glmlg,{,hunm‘jhv S R gy
LI ’3‘\)/\')\5:.

. < . »,‘ ¢, 5 o‘A . % r i

List out the schemes in India for Workerg

@uieoy vewfl  um)

ork of labour

Briefly explain the nature W

welfare.
Or

(<) Qsmfemart sovarfler Ggenasaar el 5.
Explain the needs for labour welfare.
PART C— (3 x8= 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

Qasmfpemana sapseiliIed QuUITHET LHMILD
GrmésLD alens 5.

(i) Qsmfer Qewodum e @QeTOHILEOULTSSTE
Bleneesmar Lp Hm GDILIL| QINTS:

(i) Explain the meaning and scope of
industrial sociology

16. (=1) @)

o
(i) Write short notes on conditions
essential for functioning of industry-

Or
Pl '
age8  0gde No. : 32094



18.

(<)

(1)

é
(o) @smplereri ST,

o vah D BGGm A
gepd (pev ,J)(n\}',bn U‘)]G\)' LD P05 5L ar
WA TUPND) =000y

(:DL”)
GT(LRHIH:

Tt g8y about
Write an €859 ° ut “Industry as a Social

-

System’:

Ccngbé}?[éléBG'ﬂ LDfDQ]LD Qg)m‘@é)g)lmm 2_MeGer
'G;gjrré'%é}SLb umﬂﬂ QLTS
Examine the aspects and scopre€ of Industrig]

Relations.

Or
(1) “@g;rr%@é\) 2 mey” QuT(HEeT oSl emé ey L.

(11) “gal_(HUGUTD” QuIT(HEN T HETESaLD.

G  Explain the meaning of Industrial

Relations. '
(11) Explain the meaning of Collective
, Bargaining.
Qg rHoSIemD GLomgev Gullq GBI ST UL lg wied ()
LHMID DS RIS

List out the forms of Industrial Dispute and

explain it.

Or
§r'n_'JurruJLb/(3§>éﬂUJ
sanpsilen Sz GHILIL 10T
Write notes on 1ab0uf court, industrial

tribunal/national tribunal.
. 32094
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Sl &
X

T oy B
iy a»_‘"f' “ fg"“-‘i

L8
« '_("‘*

- Detail about lahour welfare

%3 2 = ‘ : : 3 * 5y
B8 Qeupd @D TSNS LD

uss about (he factors affecting  the

[isC

QUuOCess of the schemes.

Or
Sraunsss @ .Qgrr@euneﬂff&@ﬂm UBEG  bleva
omib 0EEWSSIQND Lph HCOTEES.

Discuss the 1mportance and the level of

participatioﬂ of workers in management.

TETRIGS Sl GTme CunEamereriu L
sveryfl  pLegsMSSET  UDDI

activities

Detail about labour welfare
undertaken by the Government of India.

Or
Qsmfihemshsaen GumnoameTariiurL
Gemfararsd pwd yfl BLeUGEMEESET W)
efleuflés.

activities

undertaken by the trade unions.

Page 10 Codi No. s 32094
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CopC®) DEGRER X AMINATIO
AT NOVEMBER 2018 7o

Sixth Semegter
Sociology — Main
INDUSTRIAL SOCIO0LOGY
(For those who joined in July 20 12-2015)
Time : Three hours . Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

| The concept of division of labour was advocated by
(a) Adam Smith . (b) Babbage
(c) Gisbert ' (d), Emension

2. Who is the author of the book “Industrial relations
and labour registration”? i

(a) Miller and Form (b) Sinha and Sinha
(¢)  Moorea G Memoria



(‘}l']H

The ferm “Industria]l Relations” ™ ,ement and
(a) l‘nl:\t.ionship between manaes

wWorkers -t dnd union
(-b) 1‘elat.i0nship between m:ln"‘gcmcn

]eadcrs ' ders and
(c) relationship petween WHON B

workers i and
(d) relationship ~ petween ~ SWPCO

- Subordinates
What 1s needed for good Industrial rpla'tiOfls?
(@)  Labour education
(b) _Uninteresting nature of work
(¢)  Political nature of unions
(d) Poor behaviou'xfal climate
Forms of strike include
(a) stay awéy (b) stayin
(¢) pendown - (D all of thege -
Industrial‘ disputes act was passed in the year -
(a) 1967 | () 1937
© 1947 : @) 1957
Page 2 Coqq No. . 12094 &




8.

10.

into force in

The Indinn rade Unjons Act ¢ame

the vear
() 1926 (b) 1927
(¢) 1947 () 1948

LR el
Child labourey is predominat in

(@)  Match industries (b) Glass industries

(©  Quary industries (d) All the above

The Primary objective of labour welfare 1is
‘\. _

(a) Protection of workers rights.

(b)  welfare of workers

() mainfai_ning harmonious industrial relations
(d) - all.of the above

The efforts to make worth living for workers is

(a) labour welfare .

(b) - labouf security

. (¢) labour investigation

(d) lab'our work ‘

Page 3 Code No. : 12094 E
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12,

13

1.

15.

-
-

PART I (6 » b= 2 muorlon)

,'\H.'l\\'(‘l‘ ‘,\' ‘] " (l“pn( i().-wl ('.ll”()ﬂ“]g f‘?“,hr}]' (“) or (b)

)

(b)

(n)

(b)

()

(b)

(a)

(b)

¢

about 260 words anch.

Dolime  Induatyrinl sociology nnd explain its
nature, "

Or

Distinguish between industry and factory.

Write the meaning of industrial relations.
Or
lixplain the term collective bargaining.
List out the forms of industrial disputes. /
Or L
What is industrial conflict?

Mention the purpose of workers participation
1IN management. -

Or

State the features of schemes.

Give an account of labour welfare.

Or

Write short notes on scope of labour welfare.

Page 4 Code No.:12094 E
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16.

18.

19.

Answer ¢

[Cach answec

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

» J

PART C — (6 x 8 = 40 marks)

\1.L. q‘ju;.o.t;i(ms choosing either (a) or (b).
or should not exceed éOO words.
Klucidate the scope of ind,ustria]. sociology.

Or

, Analyse the significance of modern industry.

What are the different phases and forms of
collective bargaining? Explain.

or

Discuss how collective bargaining can bring

- industrial peace.

FExamine the cause and effects of 1ndustr1a1 |

‘disp utes .

Oz

- Explain the forms of industrial disputes.'

Discuss ~the importance = of workers
participation in management.
Or

Describe the comments on -the scheme
workers partlclpatlon in management in

India.
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Explain the concept of labour welfare and
in India.

bring out its importance !
Or

list out the labour welfare activities

undertaken by government of India.
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B A. (CBCS) DEGREE EXAMINATION,
NOVIEMBIER 2018.

[Fifth Semester
Sociol.og_y
HEALTH AND SOCIETY
(For those who joined in J uly 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A—(10x1=10 marks)

Answer ALL questions.

Choose the correct answer :

~

1.  Which one of the following are examples of
Personal hygiene?

(a) taking care of your body, cleaning yourself,
dental check-up

'(b) using soup to clean yourself
(¢) taking showers

(d) getting dental checkups



-
4

P
s

When you cough, what ahonld you do?

(n) Turn yvour hend

(b) Go home from (3(,”"“(_

(¢) Cover your mouth with inside of your elbow

& . rd -
(d) Cover your mount with your hand

Which of the year ES] Act Introduced?

(a) 197H (b) 1948
(c) 1950 (d) 1960

The concept of Ayurveda is detailed in
(a) Yasurveda

(b) Rigveda

(c) Samaveda

(d) Atharvaveda

Which 6f the following dimensi;)ns is not included
in WHO definition of Health?

(a) ’Physical'Well being .

(b) Occupational Well being

(c) vMen'tal Well being

(d) Social Well being
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of the availability, Utilization
of Healthcare services 1n a

A Good ndicator
d effe

Maternal Mortality rate

(b) Hospitzal bed occupancy rate

(¢} Infant mortality rate

d) Disability adjusted life years

Global eradication of small pox was certified by

WHO in : ]

(2) April 1977

(¢} May 1980

(b) June 1978 -
(d) July 1981

Scope of Family planning services include all of
the following except?

¢z) Screening for Cervical Cancer

ey

(b) Previding services for Unmarried mothers
(¢} Providing adoptation services
(@) Screening for HIV infection

in which vear the goal of Health for all in been

attained?
(a) 199C AD (b) 2000 AD
(c) 2010 AD (d) 1980 AD
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10. Deficiency of Vitamin A
(a) Night Blindness
(b) Xerophthalmia
(c) Bitot's spot
(d) All the above
PART B — (5 x 5 = 25 marks)
‘Answer ALL guestions, choosing either (a) or (b).

Each znswer should not exceed 250 words.

11. (a) What arethe Dimensions of Health?
Or

(b) Give a brief note on occupational Hezlth.
(a) Define concept of Hygiene.

Or
(b) Write a short note on Personzl Hygiene.

13. (a) Define " health education and write the
principles of Health education. .

Or

(b) Discuss about community health.

Page 4 Code No.:12182E
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L () Write o short note on Homeopathy,
Or
(1)) Ghive n brief note on Biddha Medicine,
16, () What nre the objectives of PHC's?
Or

() What is health policy and discuss about the
aimeg of Henlth poliey? '

PART C — (b « 8 = 40 marks)
Answer ALL questions, choosing cither (a) or (b).
liach answer should not exceed 600 words.
16. (a) Ixplain the concept and types of illness.
Or

(b) Briefly explain why is Environmental health
important.

17. (a) DBriefly explain the methods used in Health
[Cducation.

Or

(b) Give a detailed note on maintenance and
promotion of Health.
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al

{b)

{a)

(b)

What are the major health problema in Indin
and briefly explain about it?

Or

What i1s the meaning of health policy and
expiain the best health policy of India?

What is the difference between Allopathy and
Homepathy?

Or

Explain the functions of Primary health
centres.

Explain the community participation in
promotion of Health.

Or

What tvpes of environmental factors that
affects health?
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Code No. : 12176 e Sub. Code : JMSO 12/
SMSO 12

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2018

Fi‘rst Semester
Sociology — Main
SOCIAL RESEARCH
(For those who joined in J uly 2016 and afterwards)

Time : Three hours ' Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
. \ ‘
Answer ALL questions.

Choose the correct answer :;

1. Social research is uéeful
(a) To understand society
(b) ° Practical purpose
(¢) Development of Theory
(d) Al these A |



ot

The main purpose of design is (o
acquire a detailed knowlvd;.,c or (,()mprchonmw,
information of the subject matter under study

(a) exploratory
(b) descriptive
(c) diagnosis

(d) experimental

refers to a blueprint for collection
and analy31s of data in research

(a) research problem
(b) hypothesis
(¢) sampling

(d) research design

In experimental research design, the experimental

group is exposed to - . variable
(a) dependent (b) independent
(c) intervening (d) influential

In experimental research design,
group is kept constant and no .experiment is
carried out in it

(a)  control (b)- experimental

() intervening. (d) influential

Page 2 Code No. : 12175 E



6. If subjects are deliberately chosen as sample
- because of their specific characteristics, it is

(@) Probability sampling
| (b) Non-Probability sampling
(0 Random sampling
‘(.d) all these |

If a researcher conducts an interview with

- pre-determined questions in an order, 1t 1s

(a) structured interview
(b) unstructured interview
(¢) . semi-structured interview
(d) group interview
8. Objectives of social research include
(a) to find out social facts
(b): to verify knowledge
(c)  to develop theory

.(d) all these
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9. Relationship between two or more variables is

indicated by

(a)  Hypothesis

(b) Research problem
(©) Relsearch design
(d) None of these

10. Probability sampling is otherwise known as
(a) random sampling
(b) non- random sampling
(c) biased sampling
(d) objectiveless sampling

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer shoﬁld not exceed 250 words.

11. (a) Explain the importance and need of social
research.

, Or
(b) Discuss the principles of sampling.

Page 4 ‘Code No.: 12175 E
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14.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

. (b)

Discuss  the experimental method with

suitable examples.
Or

Explain questionnaire as a tool for data

collection.

Explain the uses of secondary data in the

research.
Or -
Write short note on interview method.

What are the components of research? -

Explain.

Or

Examine the merits and . demerits of

sampling in the social research.
Explain the types of hypothesis.
Or

Explain the meaning and selection of
research problem.
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PART C — (5 x g ="

Answ
swer ALL questions, dwO“"

1
6. (a) Explain the scientif]
social research.
-Or

(b) Bring out the 1mpOlt5‘nce of

design in research.

17. (a) Defme hypothesis an
Or

(b) erte an- esséy on observation method as a

data collection techmque

18. (a) Discuss the types of probability sampling.

p
{

Or

Discuss the steps involved in designing
a

ool research design.



19 (a)
()
20. (a)
(b)

technique in which it can be presented.
Or
Bring out the limitations of social research.

Exafﬁine the formulation of research

~ problem.
Or
Elaborate ‘the advantages of observation,
interview,  interview  scheduled  anq
questionnaire. ‘ :
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Code No.: 12184 E  Sub. Code : JMSO 5 C

B.A (CBCS) DEGREE EXAMINATION,
' NOVEMBER 2018,

Fifth Semester
Sociqlogy — Main
Major Elective — N.G.O0. MANAGEMENT
(For those who joined in July 2016 onwards)
Time :‘Three hours | | Maximuﬁ - 75 marks:

PART A~ (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer

1. Which of the following is a key feature of non-
governmental organisations (NGOs)?

(a) - They do not make or distfibute profits
(b) They have noth'i'ng to do with, governments
(c) - They all campaign on behalf of human rights

(d) They all woi'k within developing countries



&

Which of the following t

ypes of NGO e
as “good” NGQg? i seen
(a) QUANGO (b) DONGO
() INGO . (d) GONGO

Why is the work of NGOs particularly congemal to
liberal theorists?

(a)
(b)

All NGOs have distinctively lib’eral views

‘NGOs provide . Well paid ]ObS for well—
. meanmg people

(¢) - NGOs contest the “realist” view that all

International politics of any significance

arises from the activities of Self-Interested
states ’

(d) All of the above are correct

What is the definition for a NGOs?

(a) Hospital -

(b) Government Organisation
(¢) Police Force
(d) Non- Government Organisation
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,.Ho\vdo NGO's make money?
‘('a_)' Peaple give them food
(b)  People give them gift cards

y  People donate money

(@) All of the above

What does a non-profit N GO do with their money?
(a) spends it on a totally differenf cause :
(b) uses iﬁ for their organisation

(c) keeps the money

(d) gives it to charity

Which one of these is a non-government
organisation? | | '

(a) Red Cross . (b) 5 'M'edicare

(c) Hqspital ; (d) Policé Fofce NSW
Which one of these 18 a NGO? -
(@) World vision (b)  Reptile help

(©) . - Food for days: (d)  Fire brigade
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9. Child rights are

(a) Rights of provision

(b) Rights of protection |
(¢) Rights of participation
(d) Al‘l. of the above

10.  Which of the following is an indicator of poverty in
India? '

(a) Income level - (b) Illiteracy level

() Employment level (d) All of these

PARTB— (5 xb5=25 marks)
Answer ALL questions, choosmg either (a) or (b).

anh answer should not exceed 250 words.
L1, - (a) Explai'ri the main characteristics of NGOs'..
| s gt " : ‘
: (b)  Write a concept of _NGOS?

12. (a) Briefly discuss about community support for
‘ - NGO.
RS O
(b) Explain the specific legal requirements to

Forme of NGO'’s.
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13. (a) State the principles of NGOs.
Or

(b) State the features of Project Plauning.

14. (a) What are the benefite of
management?

Or

(b) Write a short note on Types o
Management.

15 (a) What are following steps for z good pro=

management?

Or
(b) Discuss about Child Rights.
PARTC—(E) x 8 = 40 marks)
Answer ALL questioﬁs_. choosing eilther (a)

Each answer should not exceed 800

-~

NGOs.
Or

(b) Summarize the classification of 1
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16. (a) . Analyze the structure snd functions of

NGO's.
1214 E



18.

19.

20,

(a)

(b)

(b)

(a)

(b) -

(a)

(b)

Lixamine the origin and growth of NGO's in
India.

Or
Elucidate the

steps and procedures of
formation NGOg.

Cut1cally analyze the organizational factors
of NGO’s.

Or

Explain the various sterategies of social

‘action Adopted by NGO’

Elucidate the meanmg of project planning
and its various steps and Functions.

Or

Examine the classification and phases of
project management

‘Give a suitable measures of poverty
Alleviation.

Or

Discuss about to take steps of Environmental
Protection in modern India.
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